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Research Methodology

Section Id : 549470337
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 59

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947023957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the most advantage of giving homework to students?

Options :
Remain busy at home
1%
Study at home
2. %

May be checked for their progress

May develop the habit of self study
4.9



Question Number : 2 Question Id : 54947023958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who is regarded as Father of Computers?

Options :

Pascal

Bill Gates

2. %

Charles Babbage
3.¢

J. V. Neumen
4.%

Question Number : 3 Question Id : 54947023959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

National literary Mission was established in the year

Options :

1996

1988



1999

2000

Question Number : 4 Question Id : 54947023960 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who advocated the idea of basic education in India ?

Options :
Dr. Zakir Hussain
1. %
Dr. Rajendra Prasad
2. %
Mahatma Gandhi
3. %

Rabindranath Tagore.

Question Number : 5 Question Id : 54947023961 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The best remedy of the student’s problems relating with learning is

Options :

Suggestion for hard work

1. ®

Supervised study in study hours
2. %

Suggestion for private tuition
3. %

Diagnostic study
4. &

Question Number : 6 Question Id : 54947023962 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Traditional teaching method is known as

Options :

Chalk and teach
1.

Brainstorming



Group discussion

Demonstration

Question Number : 7 Question Id : 54947023963 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which organization initiated the MOQOCsSs in India?

Options :
CSIR
1. *®
DST
2. %
AICTE
3.¢
UuGC
4, *®

Question Number : 8 Question Id : 54947023964 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework to carry out research is known as of research.

Options :

Objectives
1. ®

Synopsis
2. %

Design
3. ¢

Hypothesis
4. %

Question Number : 9 Question Id : 54947023965 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Evaluation of the depth of any research is based on
Options :

Objectives
1.¢¥

Time period



Money spent

Topic

Question Number : 10 Question Id : 54947023966 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which technique 1s used when the population is fixed or restricted to sampling?

Options :

Purpose
1. ®

Cluster
2. %

Systematic
3.¢

Stratified
4. %

Question Number : 11 Question Id : 54947023967 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one is considered as most comprehensive source of population data?

Options :

Sampling
1. %

Census
2.

NSS
3. %

Primary Health Studies

4.%

Question Number : 12 Question Id : 54947023968 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following characteristic is not covered in descriptive research.

Options :

What

Where



When

Why

Question Number : 13 Question Id : 54947023969 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The basic characteristic of experimental research is
Options :

The independent variable i1s manipulated

1.
Goals
2. %
A hypothesis
3. %
Design
4.%

Question Number : 14 Question Id : 54947023970 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following aspects, which one is not considered in research ethics?

Options :

Respect intellectual property

1%

Objectivity
2. %

Cut and paste
3.¢

Honesty
4.%

Is Section Default? : null

Question Id : 54947023971 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)

Read the following passage carefully and answer the questions from 135 to 21:

Throughout human history the leading causes of death have been infection and trauma.
Modern medicine has scored significant victories against both, and the major causes of ill health
and death are now the chronic degenerative disease, such as coronary artery disease. arthrifis,
cataract and cancer. These have a long latency period before symptoms appear and a diagnosis is
made. It follows that the majority of apparently healthy people are pre-ill.



Many national surveys reveal that malnutrition is common in developing countries. This
is not the calorie or micronutrient deficiency associated with developing nation: but multiple
micronutrients depletion. usually combined with calorific balance or excess. The incidence and
severity of Type B malnutrition will be shown to be worse if newer micronutrients groups such
as the essential fatty acids and flavonoids are included in the surveys.

However, the pharmaceutical model has also created an unhealthy dependency culture, in
which relatively few of us accept responsibility for maintaining our own health. Instead. we have
handed over this responsibility to health professional who knows very little about health
maintenance or disease prevention.

Based on pharmaceutical thinking. most intervention studies have attempted to measure
the impact of a single micronutrient on the incidence of disease. The classical approach says that
if you give a compound formula to test subjects and obtain positive results. you cannot know
which ingredient is exerting the benefit, so you must test each ingredient individually.

So do we need to analyze each individual’s nutritional status and then tailor a formula
specifically for him or her? While we do not have the resources to analyze millions of individual
cases and there is no need to do so. The vast majority of people are consuming suboptimal
amounts of most micronutrients and most of the micronutrients concerned are very safe.
Accordingly, a comprehensive and universal program of micronutrient suppoit is probably the
most cost-effective and safest way of improving the general health of the nation.

Sub questions

Question Number : 15 Question Id : 54947023972 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Type B malnutrition will be worse if
Options :

Micronutrients groups are included

1. %
Fatty acids and flavonoids are included
2.¥
Both Micronutrients groups and Fatty acids and flavonoids are included
3. %
Fatty acids added
4.%

Question Number : 16 Question Id : 54947023973 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the process to know which ingredient 1s exerting the benefit?
Options :

Give compound formula to test subjects

Test each ingredient individually
2.¥



Study the impact of single micronutrients

None of these

Question Number : 17 Question Id : 54947023974 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Pharmaceutical model created

Options :
Business improvement
1. ®
Nutritional status
2. %
Most unhealthy dependency culture
3.9

Nomne of these

Question Number : 18 Question Id : 54947023975 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



‘What 1s required to improve general health of the nation?

Options :

A comprehensive program
1. ®

Universal program of micronutrient support system
2. %

3 All options

Give money to households

Question Number : 19 Question Id : 54947023976 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What does classical approach say to measure the impact of a single micronutrient on
the incidence of disease?

Options :

You must test each ingredient individually
1.¢¥

Those who know very little about health maintenance or disease prevention



A diagnosis 1s made

Test all the aspects at a time

Question Number : 20 Question Id : 54947023977 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Malnutrition 1s common in

Options :

Western countries

1. %

South Asian countries
2. %

East Asian countries
3, %

Developing countries
4.

Question Number : 21 Question Id : 54947023978 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Micronutrient support is
Options :

Most cost-effective

1. %
Safest

2. %

Both cost-effective and safest
3.

Not desirable
4, %
Is Section Default? : null

Question Number : 22 Question Id : 54947023979 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Encoding refers to

Options :

Creating disturbance

Referring the message



With the assistance of symbols to express an idea
3.¢¥

To interpret a message

Question Number : 23 Question Id : 54947023980 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the progress of two- way communication. the sender is at one end while the
1s at the other end

Options :

Recelver
1.

Message
2. %

Transform
3. %

Make ready
4. %

Question Number : 24 Question Id : 54947023981 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What type of communication is being followed in Video conferencing?

Options :

Only visual
1. %

Two way visual
2. %

Two way Audio-visual
3.¢¥

One way audio- visual
4.%

Question Number : 25 Question Id : 54947023982 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the communication, conversation comes under the category of

Options :

Non- verbal

Verbal
2. ¢



Drafted

Facial

Question Number : 26 Question Id : 54947023983 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which one is considered as semantic barrier of communication?

Options :
Attention of the receiver is diverted
1%
Humming
2. %
Signal 1s lost before reaching the receiver
3. %
Receiver is not able to understand the meaning of the message
4.9

Question Number : 27 Question Id : 54947023984 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



It 1s desirable to start the class room communication with

Options :

Commands
1. %

Narration
2. ¢

Authority

3, %

Variability
4. %

Question Number : 28 Question Id : 54947023985 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which agency in India 1s announcing the central government programs
and policies?

Options :

PTI

AIR



PIB

UTI

Question Number : 29 Question Id : 54947023986 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who is considered as father of reasoning?

Options :

Aristotle
1.

Plato

2. %

Rossow
3. %

Mantesquo
4. %

Question Number : 30 Question Id : 54947023987 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Find out the missing element in the following series: ABD. EFH. IJL. MNP and QRT.

Options :

/ZXB
1. ®

XYZ
2. %

WXY
3. %

UVX
4.

Question Number : 31 Question Id : 54947023988 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find out the wrong number in the following number series: 583. 643. 800 and 691.

Options :



800

691
Question Number : 32 Question Id : 54947023989 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

For example, in certain language, CLASS is written as DMBTT. What will be the code
for BLUE?

Options :
1. %

CMVF
2.9

CNWH
3. %

DNWG
4, #

Question Number : 33 Question Id : 54947023990 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following, which is the largest amongst 5/8, 2/3, 7/9, 3/57?

Options :

5/8
1. %

2/3
2. %

3/5
3. %

7/9
4.9

Question Number : 34 Question Id : 54947023991 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Suppose the length and breadth of a rectangle are in the ratio 3:1. If the breath is 7 cm.
then the length of the rectangle should be

Options :

21 cm
1.

18 cm



16 cm

14 cm

Question Number : 35 Question Id : 54947023992 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the average of the 12 numbers i1s 15. Suppose a number 41 is also included. then
what will be the average of these 13 numbers?

Options :

16
1. =

18
2. %

19
3. %

17
4. &

Question Number : 36 Question Id : 54947023993 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



* Should India make efforts to exploit renewable energy to fulfill its energy
requirements’?
I. Yes. most of the non- renewable sources of using at present are exhaustible.

I1. No. exploiting renewable energy requires a huge investment and India is not in
a position to invest that much amount of money.

Options :

Only argument I is strong
1. ¢

Only argument IT is strong
2. %

Either I or II is strong
3. %

Neither I nor II is strong
4. %

Question Number : 37 Question Id : 54947023994 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Induction reasoning consists the following.

Options :



Starts with a general idea and reaches to specific conclusion

1. %
‘If” and ‘then’ statements are figured
2. %
Drawing a general conclusion from a set of specific observations
3. ¢
“Top —down’ thinking
4. %

Question Number : 38 Question Id : 54947023995 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Deduction reasoning involves .......

Options :

Conclusions are drawn from a set of specific observations

It quick way to make decisions

" Bottom- up” logic



Moving from general to the specific

Question Number : 39 Question Id : 54947023996 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Flow: River:: Stagnant : ?

Options :

Stream
], %

Rain
2. %

Pool
3. %

Canal
4. %

Question Number : 40 Question Id : 54947023997 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Indian logic ‘Anumana’ refers to

Options :



Perception

], %

Inference
2. ¢

Implication
3 %

Comparison
4, %

Question Number : 41 Question Id : 54947023998 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the meaning of *Anupalabdhi’?

Options :
Postulation
], %
Verbal testing
2. %

Non-apprehension
3.¢¥



Inference

Question Number : 42 Question Id : 54947023999 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following ‘Hetvabhasa’ is associated in the argument * sound 1s
eternal because if 1s caused™?

Options :

Viruddha or contradictory
1.

Satpratipaksa or inferentially contradicted
2. %

Sandyasama or the unproved
3. %

Badhita or non- inferentially contradicted
4.%
Is Section Default? : null

Question Id : 54947024000 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:

Study the following Pie-chart carefully and answer the questions 43 — 45. It gives data on
how the monthly income of a person is allocated to different heads.

House Rent

20° Savings

ntertainment

Sub questions

Question Number : 43 Question Id : 54947024001 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the house rent paid in a month i1s Rs.16500, then the amount allocated on travel in
that month, in rupees, 1s



Options :

6500
1. %
7500
2.
3500
3. %
9500
4.%

Question Number : 44 Question Id : 54947024002 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the amount spent in a month on travel is Rs 8000, then total income in that month is

Options :
60,600
1. ®
57.600
2.
54.400



57.000

Question Number : 45 Question Id : 54947024003 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the total income in a month is Rs. 54.000. then the difference in the amounts spent on
food and travel in that month. in rupees. is

Options :

6000
1. v

7500
2. %

9000
3. %

10500
4, ®
Is Section Default? : null

Question Id : 54947024004 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following Table carefully and answer the questions from 46 to 49. It gives data on
marks obtained by students in different subjects during 2007-2010.

Year English Maths Science Social Science
High. Ave. High. | Ave. High. | Ave. High. Ave,
2007 80 70 94 60 &9 70 65 55
2008 82 65 85 62 95 64 66 58
2009 71 56 2 68 97 68 68 48
2010 75 52 91 64 92 75 77 58

Sub questions

Question Number : 46 Question Id : 54947024005 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the overall average of marks in the four subjects in the year 20097

Options :

63

64



o
LN

60

Question Number : 47 Question Id : 54947024006 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Suppose that there were 40 students in science in the yvear 2009, how much total marks
did they receive when combined together?

Options :

2800
1. %

2720
2.9

2560
3. %

3000
4, %

Question Number : 48 Question Id : 54947024007 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year. the difference between the highest and the average marks in Maths was
maximum?

Options :

2009

2010

2007
3.¢

2008

Question Number : 49 Question Id : 54947024008 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which vear. the difference between the highest and the average marks in social
sciences was least ?

Options :

2009

2010



2007

3. %
2008
4. &
Is Section Default? : null

Question Number : 50 Question Id : 54947024009 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following acronyms, data is transferred securely across the world wide web.

Options :

HELLE
1. #®

HTTPS
2.9

POP
3. %

IMAP
4, ®

Question Number : 51 Question Id : 54947024010 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which software 1s needed to create slideshows?

Options :
Paint
] ®
Microsoft Word
2. %
Windows X P
3. %
Micro Soft Power Point
4. ¢

Question Number : 52 Question Id : 54947024011 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Joystick device.
Options :

Input
1. ¢

Output



Storage

Network

Question Number : 53 Question Id : 54947024012 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Python is

Options :

An operating system

1. ®

Programming Language
2.9

An application program
3. %

A compiler
4. %

Question Number : 54 Question Id : 54947024013 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Speed of internet is measured in

Options :

GHZ
1. ®

GBPS
2. ¥

GB
3. %

DPI

4, %

Question Number : 55 Question Id : 54947024014 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

VIDWAN scheme of MHRD 1s aimed at

Options :

Creating a database to national research network
1. ¢

Making available e-resources



Promoting entrepreneurship among faculty

Awarding National professorship to faculty

Question Number : 56 Question Id : 54947024015 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The UGC portal * e-SARTS 1s for

Options :

Special Assistance for Research in Technology and Sciences
1. *

Special Assistance for Research and Training in Sciences
2. %

Support for Academic and Research Training in Social Sciences

Scholarship — Fellowship Award Registration Tracking System
4. <

Question Number : 57 Question Id : 54947024016 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following millennium goals , which one is not considered?

Options :

Achieve Universal Primary education
1. %

Ensure healthy lives and promote well being for all at all ages
2.¥

Ensure environmental sustainability
3. %

Eradicate extreme poverty and hunger

4.%

Question Number : 58 Question Id : 54947024017 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sustainable goals proposed by the United Nations will be achieved by the end of
year.

Options :

2045

2040



-3
=
Lad
Lh

4.9

Question Number : 59 Question Id : 54947024018 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the most adverse consequence of modern agriculture ?

Options :
Decrease in animals and their natural habitats
1. ®
Water pollution due to usage of chemical fertilizers and pesticides
2. ¢
Soil erosion
3. %
Employiment opportunities increase
4.%

Question Number : 60 Question Id : 54947024019 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the following, which gas is occurring abundantly in the air naturally?

Options :
Water vapor
1. %
Carbon dioxide
2. %
Nitrogen
3.¢¥
Oxygen
4. %

Question Number : 61 Question Id : 54947024020 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India, the first nuclear reactor was set up at

Options :

Bombay
1. ¢

Kalpakam



Hyderabad

Tarapur

Question Number : 62 Question Id : 54947024021 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following . which one is not considered as natural disaster ?

Options :
Cyclone
1. *
Earthquake
2. %
Tsunami
3. %

Short circuit fire
4, &

Question Number : 63 Question Id : 54947024022 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The species whose population has been reduced considerably and is at the verge of
extinction. is called as species.

Options :

Rare

Endangered
2.¥

Vulnerable

3. %

Indeterminate

Question Number : 64 Question Id : 54947024023 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following traditional Universities, which one is not established in the year 18577

Options :

Bombay

Delhi



Calcutta

Madras

Question Number : 65 Question Id : 54947024024 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which organization is established in India to promote, review. encourage, assist. and
coordinate social science research

Options :
NCAR
1. %
NCERT
2. %
CSIR
3. %
ICSSR
4.

Question Number : 66 Question Id : 54947024025 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year the first Open University in India was established?

Options :

1986
1. %

1980
2. %

1982
3.¢¥

1985
4. %

Question Number : 67 Question Id : 54947024026 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The NCTE established in India to strengthen

Options :

Teacher education
1. ¥

Technical education



Computer education

Medical education

Question Number : 68 Question Id : 54947024027 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the purpose of establishing the National Skills qualification framework in the
country ?

Options :
Technology development

1. ®

Social development
2. %

To develop competencies at different levels
3.¢

Rural development

4.%

Question Number : 69 Question Id : 54947024028 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the main purpose of establishing National program for Technology Enhanced
Learning ( NPTEL) by the MHRD?

Options :
To promote Engineering education
1.¢¥
To promote higher education
2. %
To promote technology in agriculture
3. %
To develop pollution free technologies
4.%

Question Number : 70 Question Id : 54947024029 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the explicit objective of value education?

Options :

To mculcate economic values



To inculcate political values

2. %
To inculcate cultural values
3. %
To inculcate moral values
4. ¢
Sociology
Section Id : 549470338
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 54947024030 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who divided the religion into sacred and profane?
Options :

L Spencer

Karl Marx

2. %



, » Parson

Durkheim
4. %

Question Number : 72 Question Id : 54947024031 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who gave the theory of reference group?
Options :
Karl Marx

1. %

) % Morgan

, » Comte

Merton
4. &

Question Number : 73 Question Id : 54947024032 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The subject matter of sociology is concerned with
Options :

The social relationships and fundamentals of social process
1. ¥



The state craft

2.3

The physical characteristics of man
3. %

The past events of the man
4.%

Question Number : 74 Question Id : 54947024033 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important aspect of primary socialization is
Options :

Immagination

Self control

Motivation

Internalization of norms
4.«

Question Number : 75 Question Id : 54947024034 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Human behaviour changes due to

Options :

. External conditions
1 . -

Economic conditions

Psychological conditions
3. %

Physical conditions
4. %

Question Number : 76 Question Id : 54947024035 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chenchus belong to
Options :
- The proto-Australoid

The Negrito group
2. %

The mangoloid group
3. %



The Nordic group

Question Number : 77 Question Id : 54947024036 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a characteristics of capitalism?
Options :
Private ownership of the factors of production

1. %

J Cenfralised economic planning
2‘ -

Production for private profits
3. %

Class conflicts
4, %

Question Number : 78 Question Id : 54947024037 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The greatest influence of urbanisation has been on rural society in the sphere of :

Options :
Mode of living



Religion

2.3

. Family life
Social life

4.9

Question Number : 79 Question Id : 54947024038 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What contributes to the immediate source of economic power in agrarian societies?

Options :

Education
], %

Income

, «  Wealth

Ownership and control of land
4.9

Question Number : 80 Question Id : 54947024039 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



‘Which of the following is the author of the book “Peasant society and culture™ ?

Options :
J. M. Halpera

1. %

R. Dahiundorf
2. %

S.C. Dube

Robert Redfield
4. ¢

Question Number : 81 Question Id : 54947024040 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Agrarian societies are
Options :
Heterogeneous

1. ®

Complex

HD]HOg eneous
3.¢



Densely populated

Question Number : 82 Question Id : 54947024041 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Probationary marriage is allowed in the following tribe
Options :

v Kuki

Kheria

, » Goud

Bhil

Question Number : 83 Question Id : 54947024042 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Sociologists introduced the term “rurban™ ?

Options :

| % E E Bergel



C Galpin

2.¥

Mac Iver and Page
3. %

Homer Hoyt
4. %

Question Number : 84 Question Id : 54947024043 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

All the cities with a population of one million and over are termed as
Options :
Towns

) % Cities

_ Satellite cities

4, » Metropolies

Question Number : 85 Question Id : 54947024044 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who is the author of the book “Indian village™ ?

Options :
A. R. Desai

M. N. Srinivas

Kolb and Brunnes

S. C. Dube
4.

Question Number : 86 Question Id : 54947024045 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Class system is rooted in

Options :

The religious order

The legal order

The social order
3. %



The economic order
4. &

Question Number : 87 Question Id : 54947024046 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements 1s correct?
Options :

Class 1s immobile

Class 1s static

2. %
Class 1s mobile
3.
Class i1s radical
4, %

Question Number : 88 Question Id : 54947024047 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s the author of “class and class conflict in an industrial society™ ?

Options :

L. A Coser

1. ®



R. Dahrendorf
2. ¢

C. Wright Mills

3. %

M. Gluckman

Question Number : 89 Question Id : 54947024048 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which vear was the Hindu widow re-marriage Act passed?

Options :

Question Number : 90 Question Id : 54947024049 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Name the author of the book “the human Group™
Options :
Robert Redfield

1. #

W. F. Whyte

2. %

George C. Homans
3. ¢

F. M. thrasher
4. %

Question Number : 91 Question Id : 54947024050 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The physical condition of primary groups consists of
Options :

Indirect contact

Large in size
2. % =

Physical proximity

Formal relation
4, %



Question Number : 92 Question Id : 54947024051 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Caste 1s an
Options :

., Exogamous group
1.

Utilitarian group

2. %

Endogamous group
3.¢¥

Out group
4. %

Question Number : 93 Question Id : 54947024052 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Animism means
Options :

Belief in nature

Belief in God



- Belief in existence of soul

Belief in animal power
4. %

Question Number : 94 Question Id : 54947024053 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Labelling theory of crime is proposed by

Options :

Becker
1. ¢

> % Sutherland

Albert Cohen

3.%

R. K. Merton
4, %

Question Number : 95 Question Id : 54947024054 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book “Annihilation of caste™ was authored by
Options :

. Mahatma Gandhi
1.



B. R. Ambedker
2.9

M. N. Srinivas

3.%

D. N. Mazumdar
4, %

Question Number : 96 Question Id : 54947024055 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s Hypothesis?
Options :

It is a tentative conclusion
1.+

Final report
2. %

It is a problem

Story telling

Question Number : 97 Question Id : 54947024056 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Honour killings are believed to have originated from
Options :

Tribal custom
1.

Civilised custom

Traditional custom

Western custom

Question Number : 98 Question Id : 54947024057 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social distance scale was prepared by
Options :

Bogardus
1. ¢

Skinners
2. %

Likert

3. %



, » Rosers

Question Number : 99 Question Id : 54947024058 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the test of difference?
Options :

T- test

Chi-Square

2. ¢

Standard variation
3.
L% Mode

Question Number : 100 Question Id : 54947024059 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If nothing or little is known about the problem. we select
Options :

Experimental research resign



Descriptive research resign

Exploratory research resign
3.¢¥

L Cross-sectional research resign

Question Number : 101 Question Id : 54947024060 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is non-probability sampling?
Options :

Purposive
1. ¥

Multi-stage

2.
Proportionate stratified
3.
Disproportionate stratified
4.%

Question Number : 102 Question Id : 54947024061 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Snow ball sampling 1s
Options :

Probability sampling

1. #

, « Non-probability sampling

Both probability an non-probability sampling

Not a sample method
4. %

Question Number : 103 Question Id : 54947024062 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The dowry prohibition act 1961 was amended in the year

Options :
1% 1980

1983

1984
3.¢

L x 1985



Question Number : 104 Question Id : 54947024063 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Generally for forming an NGO. we need to register the organisation under

Options :

Societies Registration Act
1. ¢

The Companies Act

Trade Union Act

Religious Trust Act

Question Number : 105 Question Id : 54947024064 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cultural lag theory was propounded by

Options :
| » Leslie White

Ogburn
2. ¢

Amold Toynbee

3.%



Ruth Benedict

Question Number : 106 Question Id : 54947024065 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bhoodan Movement was initiated by

Options :

Gandhi

1. %

) @ Vinobha Bhave

Narayana garu
3. %

o % Bahuguna

Question Number : 107 Question Id : 54947024066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which program was inaugurated on October 22¢ 19527

Options :

. Panchayat Samithi
L.

Panchayat raj



Community Development
3.9

Gram Panchayat

Question Number : 108 Question Id : 54947024067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not the basic unit of social structure?
Options :

Group

_Association
D, %

Social pattern

Institution

Question Number : 109 Question Id : 54947024068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identity crisis is seen among

Options :



Children

- Adolescents

Adults

Old age group
4.%

Question Number : 110 Question Id : 54947024069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the primary unit of human society?
Options :

Person
,  Family

Society

3.%

, « lnstitution

Question Number : 111 Question Id : 54947024070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Pavlov performed his experiments as

Options :

v Dog

Rat

2. %
3 ® it

, » Rabbit

Question Number : 112 Question Id : 54947024071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social action is a process of
Options :
Change resistance

Planned change
2.¢

Forced change



Sudden change

Question Number : 113 Question Id : 54947024072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a source of secondary data?

Options :

. Official reports
1.

Observation
2.9

Historical records

User data

Question Number : 114 Question Id : 54947024073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which of the following is not a measure of central tendency?
Options :

;% Mean



- Chi —Square
;. » Mode

Median

Question Number : 115 Question Id : 54947024074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social mobility occurs when societies are:
Options :

% Static

, » Disorganised

Changing

_ Immobile
4, %

Question Number : 116 Question Id : 54947024075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The urban slums are characterised by



Options :

Lack of roads
1. *
Poverty and over crowding
2. ¥
Lack of hospitals
3. %
Lack of parks
4.%

Question Number : 117 Question Id : 54947024076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is one of the characteristics of society?
Options :
| x Envy

Likeness
2. ¢

Hatred

3. %

, % Fear



Question Number : 118 Question Id : 54947024077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Before 1839, sociology was also called as

Options :

Social environment

Social physics

Social science
3, %

L % Society science

Question Number : 119 Question Id : 54947024078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the material culture changes faster, than non-material culture, the resultant
gap between the two 1s called?

Options :

Culture conflict

Culture pluralism



, % Cultural reversal

, » Cultural lag

Question Number : 120 Question Id : 54947024079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Result of automation is
Options :

| x Urbanisation

Agricultural development
2. %

Unemployment
3.

Development of small scale industries

Question Number : 121 Question Id : 54947024080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the Blue collar employee?

Options :



Manager
1. %

Industrial worker
2.

Contractor

Superintendent

Question Number : 122 Question Id : 54947024081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Payment of minimum Wage Act enacted in

Options :

L 1948

1958

2. %

L« 1968

1978

4.%



Question Number : 123 Question Id : 54947024082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the meaning of lockout?
Options :
Stop doing work by the workers

- Temporarily or permanently closing the industry

- Shifting industry from one location to another

Conflict between workers and the management

Question Number : 124 Question Id : 54947024083 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Achieved status i1s one that is
Options :

Derived from abilities and skills
1. ¥

Shared by likeminded people

2. %



Based on the birth order of a person

L Inherited by children by their parents

Question Number : 125 Question Id : 54947024084 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The family imto which an individual is born is called :

Options :

Family of procreation

Extended family

2. %

Family of orientation
3.¢¥

Joint family
4. %

Question Number : 126 Question Id : 54947024085 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When children of siblings of opposite sex marry. it is called?

Options :



Parallel cousin marriage

Group mairiage

2. %

Cross-cousin marriage
3.¢¥
, » Extended marriage

Question Number : 127 Question Id : 54947024086 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

M. N. Srinivas emphasised the concept of :
Options :

Lower caste

Upper caste

2. %

Dominant caste
3.¢

4% Scheduled caste



Question Number : 128 Question Id : 54947024087 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When work 1s external to the worker and is simply imposed on him, it leads to?
Options :

. » Revolution

Alienation
2. ¢

Deviation
3, %

, % Pamperism

Question Number : 129 Question Id : 54947024088 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bow and arrow ceremony 18 pl'EVﬁlEllt among

Options :

Kedars

1. ®

Koyas
2. %

3 ¢ Todas



, = Kamars

Question Number : 130 Question Id : 54947024089 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The type of family in which father is the source of authority is known as

Options :

1 = Patrilocal

Patriarchal
2.9
Patrilineal
3,
Patronymic

Question Number : 131 Question Id : 54947024090 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The decedents of common male ancestor are called
Options :

Cognates

o Agnates



Collateral kins

3. %

_ Lineal kins
4. %

Question Number : 132 Question Id : 54947024091 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author of the book “Asylums™ was

Options :
Alfred Schutz

Blumer

Erving Goffman

, » George Simual

Question Number : 133 Question Id : 54947024092 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What kind of science is Sociology?

Options :

Normative
1.+



Pure
Particularizing

L Applied

Question Number : 134 Question Id : 54947024093 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who said that the history is past sociology and sociology 1s present history?

Options :

Spencer

, » Giddings
; v Howard

Ginsburg
4.%

Question Number : 135 Question Id : 54947024094 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sex and age are example for
Options :



. Achieved status

) % Role

Ascribed status
3. ¢

4 = Social status

Question Number : 136 Question Id : 54947024095 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who makes us human?
Options :

- Community

) % Social Institution

L Society

Social groups
4. %

Question Number : 137 Question Id : 54947024096 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The groups we use as standards to evaluate ourselves are called
Options :
Cliques

1. %

Secondary groups
2. %

Primary groups
3. %

Reference groups
4.9

Question Number : 138 Question Id : 54947024097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important reason for modern urbanisation is
Options :

Increase in population
- Rapid Industrialisation

Improved Agriculture



, w lncrease in villages

Question Number : 139 Question Id : 54947024098 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Agriculture is the major source of livelihood in
Options :
New Zealand

1. %

Japan
2. % 5

Ainerica

India
4.

Question Number : 140 Question Id : 54947024099 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tribal priest is called
Options :

| = Guru
, % Priest

Shaman



4 » Mana



